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QUESTION 1
A. -7
B.2
C.6
D.7

Correct Answer: D

QUESTION 2

Evaluate the following indefinite integral:

I 10t4dt

G i v Ae Qe
A, 212 4C B. 107+ C. =2 +C D. > 4L

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: A

Evaluatingthese integral yields:

_[mr‘m :%:5 =25 +C

QUESTION 3
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(4a*Po)x (-7a’h?)=

A, —11a’bc B. —28a’b'c C. 28a'bc D. a'bc

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 4

The mixed number 4 5/7 expressed as a fraction is:
A.5/7

B. 20/7

C. 33/7

D. 45/7

Correct Answer: C

QUESTION 5

The ratio of boys to girls in the graduating class of a school is 3:2. If there are a total of 430 students in the class, how
many girls are in the graduating class?

A .74

B. 86

C.172

D. 215

Correct Answer: C

To find the total number of girls in the science class, we must first find the fraction of students in the class who are girls.
For every set of 5 students, 2 students are girls, yielding a fraction of 2/5 . Thus, the total number of girls in the class is
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)
—x430=172.
|
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